
Page 1/17

WF321646/WF321648
WF321647/WF321649



Montageanleitung für  Bettgestell

Page 2/17

1

12

25

2

7

4

5

14

3

22

 4

8

8

24

18

10

11

1613

13

23

23

21

5



Montageanleitung für  Bettgestell

1 x1 2 x1 4 x2 8 x2 10 x1 12 x1 14 x1

16 x1 18 x1 23 x2

Page 3/17

Part List-Stückliste   SKU  WF321646/WF321648

25 x1



Part List-Stückliste   SKU  WF321647/WF321649

Montageanleitung für  Bettgestell

3 x1 5 x2 7 x1 11 x1 13 x2 15 x2 19 x4

20 x2 21 x1 22 x1

Page 4/17

High Short

24 x2 26 x1 27 x1 28 x10

29 x2 30 x1 31 x1 32 x2 33 x1

Power cord
Netzkabel

Remote control
Fernbedienung

Short light bar

Kurzer Leuchtbalken

Long  light bar

Lange Lichtleiste



Hardware Parts Hardware-Teile  SKU  WF321647/WF321649

A x9 C x62 D x4 E x16 F x5 G x2

H x12 J x1 K x1 L x1 M x2+1

Montageanleitung für  Bettgestell

Page 5/17

M8*40M8*20

M6

M8*50

M8*∅22

M8*35
M6*15

M8

M3*12

M6*25

B x6

M8*20



Page 6/17

Step:1 Step:3

Step:2

Screw on but not tighten

Anschrauben, aber nicht festziehen

2PCSM

M3*12

4PCSC

M8*20

2PCSC

M8*20

27

M

L

C

C

C

C

F

H

F

H

4PCSF

M8*40

4PCSH

M8*∅22

25

21 22

25

21

22

Montageanleitung für  Stauraum-Kopfteil

28

28

28

28

28

28

C

C



Page 7/17

Step:4 Step:6

2

C

4PCSC

M8*20

A

A

A

A

4PCSA

M6*15

4PCSC

M8*20

Step:5

1

1

25

Montageanleitung für  Stauraum-Kopfteil

28

28

28

28

C

C

C

C



4

14

 4

18

20

20

20

19

19

19

19

19

19

19

19

C

C

A

C
C

Page 8/17

Step:7 Step:8

6PCSC

M8*20

Lock only 2 screws as

shown in the picture.

Verriegeln Sie nur zwei

Schrauben, wie im Bild

gezeigt.

20

C

6PCSC

M8*20

C

Montageanleitung für  Stauraum-Kopfteil

Lock only 2 screws as

shown in the picture.

Verriegeln Sie nur zwei

Schrauben, wie im Bild

gezeigt.



16

10

C

Page 9/17

18

17

14

4

C

Step:9 Step:10

4PCSC

M8*20

4PCSC

M8*20

Montageanleitung für  Stauraum-Kopfteil



Montageanleitung für  Stauraum-Kopfteil

5

5

E

Page 10/17

C

C

23

High

Step:11 Step:12

8PCSC

M8*20

4PCSE

M8*35

E

23

15

Short

4PCSE

M8*35



24

24

11

G

Page 11/17

E

Please be sure to pay attention to

the fact that there are mute

stickers facing upwards during

assembly, and the material feels

soft to the touch

24

Step:13 Step:14

2PCSE

M8*35

1PCG

M8*50

Montageanleitung für  Stauraum-Kopfteil

2PCSH

M8*∅22

H

H

1PCH

M8*∅22



C

Page 12/17

Step:15 Step:16

2PCSC

M8*20

6PCSC

M8*20

C

C

25

Montageanleitung für  Stauraum-Kopfteil



Page 13/17

Step:17 Step:18

6PCSC

M8*20

4PCSA

M6*15

B

B

First lock the screw
(      ) but do not
tighten it.
Zuerst die Schraube
verriegeln(      ), aber
nicht festziehen.

N

C

C

C

C

C

C

A

29

C

C

3

7

Montageanleitung für  Stauraum-Kopfteil

Back

4PCSB

M8*20

2PCSD

M6*25

D

D

N

Administrator
铅笔

Administrator
打字机文本
，没显示出来



2PCSE

M8*35

Page 14/17

Step:19 Step:20

13

13

13

E

26

Montageanleitung für  Stauraum-Kopfteil

2PCSH

M8*∅22

H



Page 15/17

8

Step:21

Montageanleitung für  Stauraum-Kopfteil



Pull out
and unfoldlight strip

Lichtstreifen
light strip
Lichtstreifen

The unfolded light strip has a light
strip surface on one side and a magic
veneer on the other side.
Der entfaltete Lichtstreifen hat auf der
einen Seite eine helle
Streifenoberfläche und auf der
anderen Seite ein magisches Furnier.

Page 16/17

X3

sta
rt p

oint

Startp
unkt

At the bottom
Stick the light strip on.
Unten
Kleben Sie den Lichtstreifen auf.

Montageanleitung für  Stauraum-Kopfteil

Short light bar

Kurzer Leuchtbalken

There is Velcro on
the top of the
internal space,
just stick it on.Es
gibt
Klettverschluss
auf der Oberseite
des Innenraums,
kleben Sie es
einfach auf.

Power cord X1
Netzkabel X1

Remote control X1
Fernbedienung X1

LED related accessories
LED Zubehör

Short light bar X1

Kurzer Leuchtbalken X1

Long  light bar X2

Lange Lichtleiste X2

Long light bar

Lange Lichtleiste

Long light bar

Lange Lichtleiste

30

31

32

33



Page 17/17

Connect
Verbinden

There is a USB bus
under the socket,
connect the USB plug of
the power cord to it.
Unter der Buchse
befindet sich ein
USB-Bus, schließen Sie
den USB-Stecker des
Netzkabels an.

Montageanleitung für  Stauraum-Kopfteil




